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43 34 = H 4 Nordsee 67 34
35 =H | Hansa 345
36 = H 2 Elbe 32
38 = D 8 Schiffbek 35 38
39 = H 6 Vulkan 3179
40 = H 3 Alster 28 40
42=H ansa 43 42
48 = H 2 Elbe 97 48
49 = H 6 Vulkan 50 09
50 = H 6 Vulkan 75 50
51 = H 2 Elbe 98 31
63 = H 3 Alster 4353
54 = H 3 Alster 50 54
58 = H 6 Vulkan 21 85
56=H ulkan 84 56
57 = H 6 Vulkan {2 47
58 = D 8 Schiffbek 4438
8213 Mo

= 2 L]
61 =D ¢ solllf#cg 3221
a = H | Hansa 43 63
&8 =i 8 Vian 6065
= ulkan
66 = H 3 Alster 52 96
67 = H 4 Nordsee
69 = H 2 Elbe 43
70 = H 5 Merkur 43 70
72 = H 6 Vulkan 34
73 = H 3 Alster 56 73
74 =H 2 Elbe 7774
Bzl ke 08
= ulkan
78 = B § Sonifinek 45
78 = H 3 Alster 7378
79 = H 3 Alster 71 79
80 = H 3 Alster 74 88
81 = H 2 Elbe 96 81
82 = D 8 Schiffbek 4172
83 = H 4 Nordsee
84 = H 4 Nordsee 26 49
85 = H 6 Vulkan 61 45
86 = D 8 Schiffb
88 = H 6 Vulkan 80 83
89 = H 3 Alster 9539
90 = H 3 Alster 97 55
91 = H | Hansa 68 81
gg = H 6 Vulkan 84 92
= H 6 Vulkan 28 73
gg = H 6 Vulkan 62 34
= H | Hansa 43 95
96 = H | Hansa 296
97 = H 2 Elbe 557
00 = H 6 Vulkan 50 59
01 = H 2 Elbe 4401
02 = H 3 Alster 22 02
B H 8 Volkm s 34
= ulkan
06=0D SGhlﬂbli 48 76
07 = H 3 Alster 16 07
08 = H 2 Elbe 50 08
09 = H 3 Alster 9709
10 = H 3 Alster 48 22
13=H | 13
14 = H 3 Alster 72 79
15=H ulkan 91 25
16 = H 6 Vulkan 89 36
17 = H 6 Vulkan 26 17
18 = H 6 Vulkan 68 68
19 = H 6 Vulkan 39 19
20 = H 3 Alster 85 10
21 = H 2 Elbe 1221
22 = D 8 Schiffhek 41 25
23 = H 3 Alster 9513
24 = H | Hansa 7524
25 = H 3 Alster 65 85
26 = H ansa 90 96
27 = H 2 Elbe 77 47
29 = H 6 Vulkan 779
30 = H 6 Vulkan 80 30
31 = H 6 Vulkan 44 31
32 = H | Hansa 92 32
33 = H 6 Vulkan 5123
34 = H | Hansa 44 34
35 = H 3 Alster 95
36 = D 8 Schiffbek 39 36
37 = H 6 Vulkan 92 07
39 = H 3 Alster 44 39
40 = H 2 Elbe 44 40
4] = Alster 87 41
42 = Vulkan 10 42
43 = Alster 95 43
44 = H 6 Vulkan 82 64
45 = “ Alster 10 35
47 = Elbe 44 47
201 e e
= ulkan
g; = .‘ Yulkan ﬁ 1
- ster 71
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4453 = H 2 Elbe 3653
54 = D 8 Schiffbek 38 34
55 = H 4 Nordsee 91 55
56 = H 3 Alster 44 56
57 = H 6 Vulkan 59 57
59 = H 4 Nordsee 93
60 = H | Hansa 2339
gé = D 8 Schiffbek 35 21
= H 6 Vulkan 76
64 = H 2 Eibe 51 87
65 = H 6 Vulkan 85
66 = H | Hansa 56 76
67 = H 3 Alster 66 67
68 = H 6 Vulkan 96 68
69 = H 3 Alster 81 69
70 = H 5 Merkur 8 70
71=H Ister 2 71
72 = H 6 Vulkan 1
73 = H 3 Alster 1503
75 = H 2 Elbe 61
76 = H 2 Elbe 24 96
77 = H 3 Alster 2277
78 = D 8 Schiffbek 46 48
79 = H 6 Vulkan 6479
80 = H 3 Alster 81 80
82 = H | Hansa 3552
83 = H 3 Alster 79
88 =1 & Vinkan 96 8
= ulkan
86=0D snlllf%hli 42 76
87 = H 5 Merkur 978
88 = H 3 Alster 93 83
89 = H 3 Alster 65 39
90 = H 6 Vulkan 92 68
91 = H 2 Elbe 1581
92 = H 4 Nordsee 44 92
93 = H 6 Vulkan 93 93
94 = D 8 Schiffhek 48 94
95 = H 6 Vulkan 89 55
96 = H | Hansa
97 = H 6 Vulkan 47 27
98 = H 6 Vulkan 68 88
4500 = H 3 Alster 4227
01 = H 2 Elbe 5921
02 = H 6 Vulkan 45 02
03 = H 3 Alster 4503
05 = H 3 Alster 751
06 = H 6 Vulkan 44 37
07=H Ibe 21 07
08 = H 3 Alster 9359
09 = D 8 Schiffbek 45 09
10 = H 3 Alster 4510
12 = H 6 Vulkan 92 49
14 = H 3 Alster 904
15 = H | Hansa 50 15
16 = H 3 Alster 70 27
17 = H 3 Alster 75 37
18 = H 4 Nordsee 93 18
19 = H 3 Alster 95 09
20 = H 6 Vulkan 83 56
21 = H 2 Elbe 1921
22 = H 3 Alster 91 42
23 = H 5 Merkur 9123
24 = H 6 Vulkan il 54
25 = D 8 Schiffbek 4495
26 = H | Hansa 84
27 = H 2 Elbe 7267
29 = H 2 Elbe 6509
30 = H 4 Nordsee 79 60
31 = H 2 Elbe 93 21
32 = D 8 Schiffbek 42 82
33 = H 3 Alster 6 43
34 = H 2 Elbe 1334
35 = H | Hansa
36 = H 3 Alster 6 46
27 = H | Hansa 45 37
39 = H 3 Alster 4539
“ { H | Hansa 3 46
H 3 Alster 268
H 2 Elbe 70 35
. 48 { H 3 Alster 33 94
H 3 Alster 49 69
48 { 1§ Vulkan 5106
51 = D 8 Schiffbek 4001

H 6 Vulkan 70 34
54 { {i § Vulkan 7035

56 { H 3 Alster 70 27
H 3 Alster 76 30

§7 = H 3 Alster 76 30

D 8 Schiffbek 35 10
58 { B 3 Sohiffoek 3741
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88 Alster 70
89 Hansa 28
90 Alster 86 69
91 Vulkan 85 89
92 Hansa 61 59
93 = Schiffbek 42 83
94 = Alster 27 64
95 = Elbe 3 15
96 = Hansa 81 46
97 = Alster 53 87
98 = Hansa 8
00 = H 6 Vulkan 96 16
01 = H 4 Nordsee 11 61
02 = H 6 Vulkan 46 02
04 = H 6 Vulkan 44 62
05 = H 2 Elbe 67 85
06 = H 3 Alster 61 16
07=H Ibe
08 = H 5 Merkur 458
09 = H 3 Alster 46 09
10 = H 3 Alster 42 24
12 = H 3 Alster 67
13 = H 6 Vulkan 4%
14 = H 3 Alster 73 44
15 = H 3 Alster 85 15
13 = H 3 Alster 65 66
18 = B 3 Liitz 2 87
19 = H 3 Alster 85 09
20 = H | Hansa 9565
21 = H 2 Elbe 598
= H 3 Alster 31
= H 6 Vulkan 59 85
=D38 thlﬂhni 39 66
= H 2 Elbe 65 47
= H | Hansa 5128
= H 2 Elbe 8289
= H 2 Elbe 46 30
= H 5 Merkur 28 81
= H | Hansa 46 32
= H 3 Alster 93 34
= H 6 Vulkan 47 19
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Hansa 34 36
Elbe 46 45
Vulkan 46 48
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